Divide Decimals by Powers of 10

3400 + 10% = 81000 + 10% =
347.2 + 10% = 81.4 + 10% =
34.07 + 102 = 810.4 + 103 =
3400.7 + 10? = 91.07 + 10% =
63000 + 103 = 120.1 + 10% =
6380.2 + 103 = 35.1 + 10°% =
630.8 + 103 = 45.12 + 10% =
630.8 + 10% = 604.2 ~ 103 =
408.7 + 103 = 6108.3 + 10* =
52070.9 + 102 = 7.8 - 10% =
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Divide Decimals by Powers of 10

3400 + 102 = 34

347.2 + 10% = 3.472

34.07 + 10% = 0.3407

3400.7 + 102 = 34.007

63000 + 10° = 63

6380.2 + 10° = 6.3802

630.8 + 10° = 0.6308

630.8 +~ 10* = 0.06308

408.7 + 10° = 0.4087

52070.9 + 102 = 520.709

81000 + 10* = 8.1

81.4 + 10* = 0.00814

810.4 + 10° = 0.8104

91.07 + 10* = 0.009107

120.1 + 102

1.201

35.1 + 103 = 0.0351

45.12 + 10* = 0.004512

604.2 + 10° = 0.6042

6108.3 +~ 10* = 0.61083

7.8 + 102 = 0.078
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